

$$x + 3y = 3 \quad (1)$$

$$|x| - |y| = 1$$

if $x \geq 0$ & $y \geq 0$

$$x - y = 1 \quad (2)$$

if $x \geq 0$ & $y \leq 0$

$$x + y = 1 \quad (3)$$

if $x \leq 0$ & $y \geq 0$

$$-x - y = 1 \quad (4)$$

if $x \leq 0$ & $y \leq 0$

$$-x + y = 1 \quad (5)$$

when simplifying eq (2) & eq (1)

$$\begin{array}{r} x - y = 1 \\ x + 3y = 3 \\ \hline -4y = -2 \end{array} \Rightarrow \boxed{\begin{array}{l} y = \frac{1}{2} \\ x = \frac{3}{2} \end{array}}$$

similarly eq (3) & eq (1)

$$\boxed{y = 1, x = 0}$$

similarly eq (4) & eq (1)

$$\boxed{y = 2, x = -3}$$

similarly eq (5) & eq (1)

$$\boxed{y = -1, x = 0}$$